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QUESTION 1

A systems administrator is troubleshooting performance issues with a VDI environment. The administrator determines
the issue is GPU related and then increases the frame buffer on the virtual machines. Testing confirms the issue is
solved, and everything is now working correctly. Which of the following should the administrator do NEXT? 

A. Consult corporate policies to ensure the fix is allowed 

B. Conduct internal and external research based on the symptoms 

C. Document the solution and place it in a shared knowledge base 

D. Establish a plan of action to resolve the issue 

Correct Answer: C 

Documenting the solution and placing it in a shared knowledge base is what the administrator should do next after
troubleshooting performance issues with a VDI (Virtual Desktop Infrastructure) environment, determining that the issue
is GPU (Graphics Processing Unit) related, increasing the frame buffer on the virtual machines, and testing that
confirms that the issue is solved and everything is now working correctly. Documenting the solution is a process of
recording and describing what was done to fix or resolve an issue, such as actions, steps, methods, etc., as well as why
and how it worked. Placing it in a shared knowledge base is a process of storing and organizing documented solutions
in a central location or repository that can be accessed and used by others. Documenting the solution and placing it in a
shared knowledge base can provide benefits such as: Learning: Documenting the solution and placing it in a shared
knowledge base can help to learn from past experiences and improve skills and knowledge. Sharing: Documenting the
solution and placing it in a shared knowledge base can help to share information and insights with others who may face
similar issues or situations. Reusing: Documenting the solution and placing it in a shared knowledge base can help to
reuse existing solutions for future issues or situations. 

 

QUESTION 2

A cloud administrator is assigned to establish a connection between the on-premises data center and the new CSP
infrastructure. The connection between the two locations must be secure at all times and provide service for all users
inside the organization. Low latency is also required to improve performance during data transfer operations. Which of
the following would BEST meet these requirements? 

A. A VPC peering configuration 

B. An IPSec tunnel 

C. An MPLS connection 

D. A point-to-site VPN 

Correct Answer: B 

 

An IPSec tunnel is what would best meet the requirements of establishing a connection between the on-premises data
center and the new CSP infrastructure that is secure at all times and provides service for all users inside the
organization with low latency. IPSec (Internet Protocol Security) is a protocol that encrypts and secures network traffic
over IP networks. IPSec tunnel is a mode of IPSec that creates a virtual private network (VPN) tunnel between two
endpoints, such as routers, firewalls, gateways, etc., and encrypts and secures all traffic that passes through it. An
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IPSec tunnel can meet the requirements by providing: Security: An IPSec tunnel can protect network traffic from
interception, modification, spoofing, etc., by using encryption, authentication, integrity, etc., mechanisms. Service: An
IPSec tunnel can provide service for all users inside the organization by allowing them to access and use network
resources or services on both ends of the tunnel, regardless of their physical location. Low latency: An IPSec 

tunnel can provide low latency by reducing the number of hops or devices that network traffic has to pass through
between the endpoints of the tunnel. 

 

QUESTION 3

A systems administrator needs to configure monitoring for a private cloud environment. The administrator has decided
to use SNMP for this task. 

Which of the following ports should the administrator open on the monitoring server\\'s firewall? 

A. 53 

B. 123 

C. 139 

D. 161 

Correct Answer: D 

Port 161 is the default port used by Simple Network Management Protocol (SNMP) to communicate with network
devices and collect information about their status, performance, configuration, and events. Opening port 161 on the
monitoring server\\'s firewall will allow SNMP traffic to pass through and enable monitoring for a private cloud
environment. If port 161 is closed or blocked, SNMP traffic will be denied or dropped, resulting in a failure to monitor the
network devices. References: CompTIA Cloud+ Certification Exam Objectives, page 15, section 2.8 

Reference: https://thwack.solarwinds.com/t5/NPM-Discussions/SNMP-open-ports-on-the-firewall/m-p/168826 

 

QUESTION 4

A cloud administrator is setting up a new coworker for API access to a public cloud environment. The administrator
creates a new user and gives the coworker access to a collection of automation scripts. When the coworker attempts to
use a deployment script, a 403 error is returned. Which of the following is the MOST likely cause of the error? 

A. Connectivity to the public cloud is down. 

B. User permissions are not correct. 

C. The script has a configuration error. 

D. Oversubscription limits have been exceeded. 

Correct Answer: B 

User permissions are not correct is the most likely cause of the error 403 (Forbidden) that is returned when a coworker
attempts to use a deployment script after being set up for API access to a public cloud environment by an administrator.
API (Application Programming Interface) is a set of rules or specifications that defines how different software
components or systems can communicate and interact with each other. API access is the ability to use or access an API

CV0-003 Practice Test | CV0-003 Study Guide | CV0-003 Braindumps                                3 / 4

https://www.geekcert.com/cv0-003.html
https://www.geekcert.com/cv0-003.html
https://www.geekcert.com/cv0-003.html


https://www.geekcert.com/cv0-003.html
2024 Latest geekcert CV0-003 PDF and VCE dumps Download

to perform certain actions or tasks on a software component or system. User permissions are the settings or policies
that control and restrict what users can do or access on a software component or system. User permissions can affect
API access by determining what actions or tasks users can perform using an API on a software component or system.
User permissions are not correct if they do not match or align with the intended or expected actions or tasks that users
want to perform using an API on a software component or system. User permissions are not correct can cause error
403 (Forbidden), which means that the user does not have the necessary permission or authorization to perform the
requested action or task using an API on a software component or system. 

 

QUESTION 5

Which of the following service models would be used for a database in the cloud? 

A. PaaS 

B. laaS 

C. CaaS 

D. SaaS 

Correct Answer: A 

PaaS (Platform as a Service) is a cloud service model that provides a platform for developing, testing, deploying, and
managing applications in the cloud. PaaS includes the underlying infrastructure (servers, storage, network, etc.) as well
as the middleware, databases, tools, frameworks, and APIs that are required for application development and delivery.
Examples of PaaS are AWS Elastic Beanstalk, Azure App Service, Google App Engine, etc. 
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